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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting quéstions.
There are TWENTY FIVE questions printed both in HINDI and in ENGLISH.

All the questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the answer book must be clearly struck off.
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Answer questions in NOT MORE than the word limit specified for each in the parenthesis.

Content of the answer is more important than its length :—

O

Q.2.

Q.3.

Q.4.

Q.5.

el Rwm # oy B e § ea gy, A¢ e R 2013 A OrlRs gk
Strefiea’ #Y agws w9 9 atyad wde w7 fRwr 81w veiiar ¥ uwd w0 #
ﬁ%ﬁﬁﬂ%ﬁaﬁﬁéﬂsﬁﬁmwﬁﬁaﬁﬂwaﬂsﬁaﬁtﬁﬁmﬁaﬁaﬁﬁf
FL | [200 7e9)

With a consideration towards the strategy of inclusive growth, the new Companies Bill, 2013
has indirectly made CSR a mandatory obligation. Discuss the challenges expected in
its implementation in right earnest. Also discuss other provisions in the Bill and their

implications. [200 words] 10

frefr =fica oA Swe geuE (FRBM) SRIFTH 2003 #1 9ree #3 & F41 SR 9 7 34D
gqE qEEEl X ST g S reEAcAs foawT @) [200 ¥

What were the reasons for the introduction of Fiscal Responsibility and Budget Management
(FRBM) Act, 2003 ? Discuss critically its salient features and their effectiveness. [200 words]
10

F¢ @4’ (Tax expenditure) ¥ 1 3 & ? T8 & F gm0 Ad gy fEwr i
uE WEA F See-gedr Afqdl $ 9 gHEd FRaT 81 [200 K]

What is the meaning of the term ‘tax expenditure’ ? Taking housing sector as an example,

discuss how it influences the budgetary policies of the government. [200 words] 10

m@mﬁaﬁ%ﬁwaa@m%%ﬁwaﬁm%lwﬁuwmﬁﬁ
AR iR B aEEEACTE BaE SN | 'y & ¥ | §ad fF fawe e §ed
(WTO) % =a@ =it ffgd sem7 & 78 8 7 [200 ¥ree]

Food Security Bill is expecte_d to eliminate hunger and malnutrition in India. Critically

discuss various apprehensions in its effective implementation along with the concerns it has
generated in WTO. [200 words] 10

WHWWWWﬁﬁmﬁwﬁf&ﬁ—ﬁwaﬁmmﬁﬁﬁﬂﬁ
g ?ﬁm%mwwwﬁmwa%ﬁ%mﬁﬁmﬁwﬁﬁw
HT | [200 FreE] 5 |

What are the different types of agriculture subsidies given to farmers at the national and at

state levels ? Critically analyse the agricultural subsidy regime with reference to the distortions
created by it. [200 words] 10
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Q.6.

ARG H deaT T 9 e giAlEd w3 @ g e sdm § e s ol g s
Bl YGe B Bl AEIHA o | W HYT U SCAGARHS THI ST | [200 <]

- India needs to strengthen measures to promote the pink revolution in food industry for

Q.7.

Q.8.

ensuring better nutrition and health. Critically elucidate the statement. [200 words] 10

AL ETCT aTefl HEITET g% IETAHR0T & Y9I 1 GOeT S | 991 3 Tgasey ety
¥ HaeeEe @ 4 glerwgl wX @ E P REwE ARm [200 wss)

Examine the impact of liberalization on companies owned by Indians. Are they competing
with the MNCs satisfactorily ? Discuss. [200 words] : 10

Ay spefereear § AR, FHY Iewewar X TS ST § fiw g9y e i) 9w

F P FTHRT AR AR D EWHT T FwET § wfoargdl # e w200 9]

Establish relationship between land reforms, agriculture productivity and elimination of poverty
in the Indian economy. Discuss the difficulties in designing and implementation of agriculture-

friendly land reforms in India. [200 words] 10

Q. 9(a) wefeyTEdl & WA WU Tght § SgR Gaur &7 F faeeh youw PMaw @ 9w § gwe

@1 fqa==r ST [100 9]

Discuss the impact of FDI entry into Multi-trade retail sector on supply chain management

in commodity trade pattern of the economy. [100 words] ; 5

Q. 9(b) AN weg A Ry 2012 § wgaa wfy AW g0 dgE €eu wEend ad R A

faaelt yeger fraer (FDD) #1 &5l @ & 6, ) @ Fw § o aof v o 9L s
T8 g3 & | ®RO @ fageEr ST [100 wee] :

Though India allowed Foreign Direct Investment (FDI) in what is called multi-brand

retail through the joint venture route in September 2012, the FDI, even after a year, has

not picked up. Discuss the reasons. [100 words] 5

Q.10. X & AW @ ¥4l F (GST) YR & & FagR F fqa==m IR g9 gawer

QL

A0 #XA H Ao & w1 gEIaEAcas auiA i | [200 9]

Discuss the rationale for introducing Goods and Services Tax (GST) in India. Bring out

critically the reasons for the delay in roll out for its regime. [200 words] 10

TR A1 B BOATEN BT FH FET D U 9RG # R I ggd w v aw
ferferg 1 [200 3req]
Write a note on India’s green energy corridor to alleviate the problem of conventional

energy. [200 words] 10
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Q.13.

Q.14.

Q.15.

ﬁﬁmmwm%%ﬂﬁﬁfwﬁﬂﬂﬂﬁW@PP)WaﬂWﬁ-
AT gH A 8| 3 isd b we-fwe & wECEAcAs fa@=Er S [200 w79

Adoption of PPP model for infrastructure development of the country has not been free of
criticism. Critically discuss pros and cons of the model. [200 words] 10

TRl THE SR BEW (Patent Law) 1970 F1 1@ 3(d) ¥ @ 2005 H AT
deg wOR ach uRRefEl # ene w0 gy, %ﬁéﬂﬁﬁq%sﬂ—%wﬁﬁ
e A AEAeE @) TARdd (Glivec) B UHET fUEX MR bl R PR AR
femar 1 [200 =r1sq]

Bringing out the circumstances in 2005 which forced amendment to the section 3(d) in
Indian Patent Law, 1970, discuss how it has been utilized by the Supreme Court in its
judgement'in rejecting Novratis’ patent application for ‘Glivec’. Discuss briefly the pros
and cons of the decision. [200 words] : ' 10

fxfReq w1 Stwg GOM’ (FDCs) & 39 997 @EE & ¢ SAd qui-asi w fadEE
AR 1 [200 715T] '
What do you understand by Fixed Dose Drug Combinations (FDCs) ? Discuss their merits
and demerits. [200 words] 10

B ¥ Qo-tw Profr gadem g’ ¥ oW T wwed @ 7 SEe ffaw semal #
PR 2R R 2u § we w1 BAR e yeR 9w TR &R a7
FHATRY | [200 T75<]

What do you understand by Umpire Decision Review System in Crickety” DISCLISS

its various components. Explain how silicone tape on the edge of a bat may fool the
system ? [200 words] 10

Q. 16(a) 'SiTRI s&#X’ (digital signature) FT BT 2 ? zEa g gEmiewer &1 s e

2 7y e # ygE fafew sfoew fRrsEd S@ET [100 7S]

What is a digital signature ? What does its authentication mean ? Give various salient
built-in -features of a digital signature. [100 words] 5

Q. 16(b) 3-3THY (3D)Waﬁ$mwm$«ﬁ%?ww=ﬂ$aﬁmﬂ—gﬁﬁq\%ﬁa@

HTT | [100 2]
How does the 3D printing technology work ? List out the advantages and disadvantages
of the technology. [100 words] 3

Q. 17(a) FRP Fifrg werd Far g & 7 9% ScuRd B gt 8 7 fwAT ik e e A

3% Iy @ 3w Sl [100 ¥ES]

What is an FRP composite material ? How are they manufactured ? Discuss their applications
in aviation and automobile industries. [100 words] 3
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Q. 17(b) v e MM T (Run-of-river) 5t faga TS ¥ MY FT gEET & ¢ 98 fhdl

Q.18.

Q.19

Q.20.

Q.21.

Q.22.

g I foR@ urerr 8 fRg g [T 8t 8 7 [100 9sk)
What do you understand by Run-of-river hydroelectricity project ? How is it different
from any other hydroelectricity project ? [100 words] : D

fmer-qd ydgT & fog waeaeiemr @ sifew frafo o wecagel € 7 yeme & w9
¥ g fauer ysigA gomenl # A gew fegsl X = €0 7 [200 9Tsk]
How important are vulnerability and risk assessment.for pre-disaster management ?

As an administrator, what are key areas that you would focus on in a Disaster Management
System. [200 words] : 10

AT WHAT B T UROTH B § 7 BEd @Fq 87 @ fou wwiewwr wd @ HAew & B0
1 e’ # F@uren & faaEar Ffm) [200 966
What are the consequences of Illegal mining ? Discuss the Ministry of Environment and

Forests’ concept of GO AND NO GO zones for coal mining sector. [200 words] 10

ARG & T W Afg & aRaorEr s mn Ad #1399 od gy, ARl & 9™
AL B e e o B T LA G R 1 e | W R e U T | R
TERATE SIS @ UsET SR gueA @ forg g duilre g € 7 [200 wed]

Enumerate the National Water Policy of Ihdia. Taking river Ganges as an example,
discuss the strategies which may be adopted for river water pollution control and management.
What are the legal provisions of management and handling of hazardous wastes in
India ? [200 words] ' ‘ 10

Fdg g wiaw ew F IlfE gy 3 fw uw U gRem Wifew #ar 2|
IR B g THT FT AEd B X T @Ak ¥ SEd & fog s ed ey S
TRT ? [200 7TeK]

Money laundering poses a serious security threat to a country’s economic sovereignty.

What is its significance for India and what steps are required to be taken to control this

menace ? [200 words] 10
‘araTfores woler #9d’ (Social Networking Sites) 07 Blal & 31T 37 #uell § 7 &7 I
UEId BT € 7 [200 ¥rsE]

What are social networking sites and what security implications do these sites present ?
[200 words] ' 1
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Q.23.

Q.24.

.25

F5 el e AT AR WEW g G B Seher AT SiRaR d A S$T @
AR ¥ e eIt §9R Wigm g8’ (Cyber warfare) § ¥ EHED € 7 WG W
ﬁmmﬁ%uﬁﬁﬁwﬂﬂ%sﬂﬁw—i@@ﬁmsﬂ?ﬁaﬁmﬁmﬁﬁmﬁ
i T AR [200 1]

Cyber warfare is considered by some defense analysts to be a larger threat than even
Al Qaeda- or terrorism. What do you understand by Cyber warfare ? Outline the cyber
threats which India is vulnerable to and bring out the state of the country’s preparedness
to deal with the same. [200 words] e 10

qKa @ GRuE AW gRT 244, FTERC 9 ATRa) S B M § wEid 3 | Iuenr qiad
@%WWHW#%W%W%W@HWQWHWWWl [200 ¥Teg]

Article 244 of the Indian Constitution relates to administration of scheduled areas and tribal
areas. Analyse the impact of non-implementation of the provisions of the Fifth schedule on

the growth of Left Wing extremism. [200 words] 10

< wREr & sfeax R @ wUAAR A ot ey ol fofid el @ ofte @
ARG A widRke ger & gAft dm ogwe 8 $8 9St B 7 [200 ¥E]
How far are India’s internal security challenges linked with border management

particularly in view of the long porous borders with most countries of South Asia and
Myanmar ? [200 words] ‘ 10
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GENERAL STUDIES (PAPER-II])

Time Allowed : Three Hours tMaximum Marks 250]

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before atterﬁpting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Quéstion-cum-Answer (QCA} Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must. be
clearly struck off,

C-DRA-N-TTUC/49 1 [P.T.O.
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ot T % TSI, YRS 200 TR A R A 81 sw ) e ws-dfter & arfiven e 1wl
wedl & T A E

Answer all the questions in NOT MORE than 200 words each. Content of the answer is more
important than its length. All questions carry equal marks : 12%x20=250

1. wmEE: 2 el B IOm i o i ded ) wiE i § v vwa @ @ T 8 Jeel @ ortE § T R
 # agim  gEES Fawit F frva s B e &7 w0 9w e e mum B o Betia
3w wwa 27
Normally countries shift from agriculture to industry and then later fo services, but India
shifted directly from agriculture to services. What are the reasons for the huge growth of
services vis-a-vis industry in the country? Can India become a developed country without a
strong industrial base?

2. “fag wE wN YRE ¥ weuierdM awm (Shmite fde) w1 vm ¥ wmiE wd 8, W W e
Fer-TeE] ) TeATier T W R o 3% £ v W v d 7§ #F v W Q@ 37 wra =t Br S
& dmal ¥ 8, 9 Wi al @ T we iy
“While we flaunt India’s demographic dividend, we ignore the dropping rates of
employability.” What are we missing while doing so? Where will the jobs that India
desperately needs come from? Explain.

3. uw givmw ae ol 2 B ven wiftfar ¥ st vefin it sene @ wffET (APMCs) 3 Wi § A @
il % P @ i e 3, 970% 3 e Tom AR R R e e Sl
There is also a point of view that Agricultural Produce Market Committees (APMCs} sef up
under the State Acts have not only impeded the development of agriculture but also have
been the cause of food inflation in India. Critically examine.

4, ‘“iEl & e wiEfy @ giewt, FOr W A W o et wugew wd A — sl iy o
LEEEE
wra & R e f geuf 1, w8 s wowel S 5N e vew 70 el e wenedl @ B s
sht FRRE T wEm e asa 87w dafid o Sea g o A % o siRfeR @ fee wen
e T = w27
“In the villages itself no form of credit organization will be suitable except the cooperative
society.” —Al India Rural Credit Survey.
Discuss this statement in the background of agricultural finance in India. What constraints
and challenges do financial institutions supplying agricultural finance face? How can
technology be used to better reach and serve rural clients?

5.t o, greeR @ gaatgs § afua wfie o awefife @ el bt 2013 vl =l 2014 9
st @ v 2 2o affEn & e ER @ F6-R aewd 1R o wmuW feem? wRa § suniie ST $iY
T 3EH H qieH w7 ‘
The Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and
Resettiement Act, 2013 has come into effect from 1st January, 2014. What are the key issues
which would get addressed with the Act in place? What implications would it have on
industrialization and agriculture in India?

C-BRP-H-ITHC/49 2



.

=)

10.

11.

12.

13.

@amﬁﬁaammmmmw?@ﬁ%mﬁam%mslﬁﬁﬁwﬁ TR STEET IFERA B
mﬁam%mmmﬁﬁ%m%&amﬂaﬁm%% T0E Y 1, uWa § wyET
wgia ® an % g w0 (HAar § g wen R IR s o wd gt w@l it

Capitalism has guided the world economy to unprecedented prosperity. However, it often
encourages short-sightedness and contributes to wide disparities between the rich and the

_poor. In this light, would it be correct to believe and adept capitalism for bringing inclusive

growth in India? Discuss.

ayemse 6 ddwifte el (SR smafsw g wiemet § G5f @ wriiad (s of=Rm

wdfR) e v sunefiy (seEeem) Wmelt A ufdw w awiE W awd 81 78 ghifin e & e R

IR i f wammedl ¥ ww o awda 3 @, @ sraad e B 9 ik

Explain how Private Public Partnership arrangements, in long gestation infrastructure
projects, can transfer unsustainable liabilities to the future. What arrangements need to be
put in place to ensure that successive generations’ capacitics are not compromised?

ada T e St T B o § s Al f e W oaw 9l R W wey § aEn A
fafau wriig! A awem A InENTeTE T A

National Urban Transport Policy emphasises on ‘moving people’ instead of ‘moving vehicles’.
Discuss critically the success of the various strategies of the Government -in this regard.

wn A7 A R vy FRE (T o mo)aﬁmmmaﬁim%maﬁmaﬁtmm

e A A 0 gEe W e i &7

Foreign Direct Investment {FDI} in the defence sector is now set to be liberalized. What
influence this is expected to have on Indian defence and economy in the short and long run?

e Rrafrered § 4 sgeum w1 wr fren st @ 2, Fifs fogm 9 i e srds T 2 Few
TR FRER FoOaEm, st @ ymmEa § 8, o frufoen snike-39E 8] s & § ) weeees ol
Hifvi

Scientific rescarch in Indian universities is declining, because a carcer in science is not as
attractive as are business professions, enginecring or administration, and the universities
arc becoming consumer-oriented. Critically comment.

7 YRR T g o e 7R & R e s, mﬁeﬂﬂfﬁuﬁiﬂtﬁfﬂﬁ%aﬁuﬁ%

stver § W £ orghe of Faaw ) wn Brnfftat avery 87 @ weee A ffim R @ anieEgds
w4 $ifs)

Can overuse and free availability of antibiotics without Doctor’s prescription, be contributors
to the emergence of drug-resistant diseases in India? What are the available mechanisms for
monitoring and control? Critically discuss the various issues involved.

A e H, dhfecm e arfrdt e @ T d o 3 TR o d @ S & wio, W

3 =R el & €= AR 4t W ke #if

In a globalized world, Inteliectual Properly Rights assume significance and are a source of
litigation. Broadly distinguish between the terms—Copyrights, Patents and Trade Secrets.

FN Fo To Tho Hio o Mo F il vufea Frel HieT ol wres FyFm bkl H JFEE T w@ A
=ifen, waft wea Hfee & e § wl e aref 87 onfis w9y % fag ywa A I srmawaeansd $ gl @
i #ifm| '

Should the pursuit of carbon-credits and clean development imechahisms set up under

UNFCCC be maintained ‘even though there has been a massive slide in the value of a carbon
credit? Discuss with respect to India’s energy needs for economic growth.

C-PRR-N-TJTHC/49 3 [ P.T.O.
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W 1 30 s freaw, wifve safl, dun e ot e At o v v A gf @ emver b v B
T 6 T 81 U 2T e Wit (o € Whe To) F firmrer 2010 wrlasii fugrat w sne g
0 §C G | O A e e i & weiea gt @ foe S f dard el w ==t fifg

Drought has been recognized as a disaster in view of its spatial expanse, temporal duration,
slow onset and lasting effects on vuinerable sections, With a focus on the September 2010
guidelings from the National Disaster- Management Authority (NDMA), discuss the
mechanisms for preparedness to deal with likely El Nifio and Lz Nifa fallouts in India.

ST g Bl wlalln A s 31 8 o, i wiols wE e e R @ 31 s

le.

17.

i8.

19.

20.

To-fradl (fedgw) ® sfen Foe-ofie o 65 3 wieniE wEt w == fikn)

Environmental Impact Assessment studies are increasingly undertaken before a project is
cleared by the Government. Discuss the environmental impacts of coal-fired thermal plants
located at coal pitheads.

sl @ A e % e § v B Bl s, we i Re @ ster b 9em % 9 fog 1
%l”@m%%%%qmmaﬁmwﬁrﬁ%mwﬁmml

“The diverse nature of India as a multi-religious and multi-ethnic society is not immune to
the impact of radicalism which is seen in her neighbourhood.” Discuss along with strategies
to be adopted to counter this environment.

mwmmaﬁﬁﬁmw%m%wﬁ(m)m@mmmm
B | o TRl 8 ¥ TR 87 56 sl 8 3w % o & e o Pt 3 o B 87
Wl g AR e B o wd @ P ) & o gamu

International civil aviation laws provide all countries complete and exclusive sovereignty over
the airspace above their territory. What de you understand by ‘airspace’? What are the
implications of these laws on the space above this airspace? Discuss the challenges which
this poses and suggest ways to contain the threat.

RT h T - IR D TR SRR O Ee e a 37 9 e 3 ¥ s @) swen 4
W@ e e R wrilg @ o At

How does illegal transborder migration pose a threat to India’s security? Discuss the
strategies to curb this, bringing out the factors which give impetus to such migration.

2012&@%%@-@%%@%@(@%@)mmmmmmm
d 65 foft T @ 78 foft od o Rewer far w1 Wi wwe % e wledl W osee @ ahonm 27

In 2012, the longitudinal marking for high-risk areas for piracy was moved from 65 degrees
cast to 78 degrees east in the Arabian Sea by the International Maritime Organization.. What
impact does this have on India’s maritime security concerns?

‘iﬁ-‘{ﬁmﬁ%@m#@ﬁﬁﬂmﬁ%ﬁm%mmﬁw%l%m#ﬁx&ﬂ%%qwmw@a
&7 WSS T i

China and Pakistan have entered intc an agreement for development of an economic
corridor. What threat does this pose for India’s security? Critically examine.

* d ok
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3TSWT/ GENERAL STUDIES
111/ Paper I

fifcifRE wjw * \2/ ~ GS 3 201 5 sjfmm 37&: 250
Time allowed: Three Hours Maximum Marks: 250

% fcTT™ KINAYE

T 3777~ fit'cfl $fk f/
wftW? $/
w fe WT&37cfr 3V&wrf fa?2wW $ /

\MT &ifTatmm 4 | S faww « sifcw MM M ow
?aif‘p\l/\v/ﬁ/a\}/\lvfsarﬁmm $\,L) JTW?W £ WM f\év af&fvr{ﬁmy‘e fo77 W f&IT MRT WY / jfgf&@Wmm &

w ff # titm, w tfefiftg t, w zgmw fcvr vht i

3 7 $ ™t tfZT RT3 W i VIEWJ$ ~TZTV\RT W /

Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions:
There are TWENTY questions printed both in HINDI and in ENGLISH.
All the questions are compulsory.

The number of marks carried by each question is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly
struck off.

C-AVZ-O-TTDz
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wtff w ff & 3m ffiry ifjrc&F200 /jm 3&*£t
# 3ffmiwrryyfi / wftwff £ mn 37 i /

Answer all the questions in NOT MORE THAN 200 words each. Contents of the answer are

more important than its length. All questions carry equal marks. 12 ?x 20=250
Ql. -m % 3 *TM 3 3TTHW» €r SIcT % cfk
W, ~rai | INTT 37N feRR ~ WTIcT f ? 3™ % m~rR % CI™MCT

The nature of economic growth in India in recent times is often described as
jobless growth. Do you agree with this view ? Give arguments in favour of

your answer. 122—
Q2. jrrtfar SNf 3 % fuc Srk str rt N w N AMT™n
t 1*rK?T3”T 7slop eft 3tfafor ~ N ot |

Livestock rearing has a big potential for providing non-farm employment and
income in rural areas. Discuss suggesting suitable measures to promote this

sector in India. 122—
Q3. WCT 3 STTW % 3ta 3THR qx

tonf % N sTei'mchid «<h M t, tot

RRRT % T NHT ?2 "T% W -felW |

In view of the declining average size of land holdings in India which has
made agriculture non-viable for a majority of farmers, should contract
farming and land leasing be promoted in agriculture ? Critically evaluate the

pros and cons. 12—2

Q4. H fter SfKcf cbldsW Oft 3cMK*dl sffc 3TRT 3 fatfT™M

N 3 tot f ?

How can the ‘Digital India’ programme help farmers to improve farm
productivity and income ? What steps has the Government taken in this

regard ? 12—2
Q5. 2rm stwt % "k w rfw

% 3P RhIWh MK ? xfrrf [

In what way could replacement of price subsidy with Direct Benefit Transfer

(DBT) change the scenario of subsidies in India ? Discuss. 12—2
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Q6.

Q7.

Q8.

Q9.

Q10.

RT3 W T y™Mdhwu] fART ~ fcWT 3~ A~ A~AINT WR 3
W ~TOM YFIT m 3 Nai&IVH # *IfT1 ?

What are the impediments in marketing and supply chain management in
developing the food processing industry in India ? Can e-commerce help in
overcoming these bottlenecks ? 12

KM % 3 ~ } €% 3 % 3IFIRT3 3™ ("5M) 3 A
fAT | sffc ATCFFTNGR STKW* % W A A t 1
SO AT T % Tjuf /BT I

Craze for gold in Indians has led to a surge in import of gold in recent years
and put pressure on balance of payments and external value of rupee. In view
of this, examine the merits of the Gold Monetization Scheme. 12

*OTKIT 3 «HTAY cbldsCT N <H4>ddl, ‘cb/Nld MRT <4 <CT 3Tft 3TRIT 3R ~STk!

mm\ neftt P -~AFRcT xpcff I

“Success of ‘Make in India’ programme depends on the success of ‘Skill India’
programme and radical labour reforms.” Discuss with logical arguments. 12
fc 3W T CIFt 3fc &F fTeT % MH % WT dik=h T
md B 2 " T 3THT % dil'M "fAT diHIs=h) 3[fc HNA % feT ~ATT fnindIN
t?

To what factors can the recent dramatic fall in equipment costs and tariff of
solar energy be attributed ? What implications does the trend have for the

thermal power producers and the related industry ? 12
| fcP~M snfsfo #T (T ™ .#9g.) fa=bw, fTMMw
3fk A WVR T Ilw AWT2Nen A TIRIAT A WTcAn
3 n N ANSW«bdl 11 3] «b 3?7k WTFR % WT 3
eft U4>ddl ATFT N~ A |

There is a clear acknowledgement that Special Economic Zones (SEZs) are a
tool of industrial development, manufacturing and exports. Recognizing this
potential, the whole instrumentality of SEZs requires augmentation. Discuss
the issues plaguing the success of SEZs with respect to taxation, governing
laws and administration. 12
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Q12.

Q13.

Q14.

Q15.

A Mer-'MAT wferaf afft <Iffog3 1N fer-f?faT jmrftraft
3n W f ? %elT W "3N71# T N N 3HT
3] 37r . e . MpfskFr N HKYF 2rmf t,w |

What do you understand by ‘Standard Positioning Systems’ and Precision
Positioning Systems’ in the GPS era ? Discuss the advantages India perceives

from its ambitious IRNSS programme employing just seven satellites. 12
XTI m % f, T % £ICT t MR ~TT NT
wm t ?~/ft irgisr TORt if 4fd* srfc errn®

T«INK % frftr SPAETR 'Sit 3TFT «d Y% |

What are the areas of prohibitive labour that can be sustainably managed by
robots ? Discuss the initiatives that can propel research in premier research

institutes for substantive and gainful innovation. 12
meFTit ddddodiql % fan, <+dI™ #NTT «IGT ~NTCSTFICT TTCHaOInfteT
Attt % rmrt ark m \

Discuss the advantages and security implications of cloud hosting of servers

vis-a-vis in-house machine-based hosting forgovernment businesses. 12
NRT WrfoR Wt feffel dINO 20 N
wj "Rt ~ wfocT "HchlO t, ~ % 3iicT NN
#RIR FfftcT it t |1 dis$R|I| % srtffr
t % ms afk i

India’s Traditional Knowledge Digital Library (TKDL), which has a database
containing formatted information on more than 2 million medicinal
formulations is proving a powerful weapon in the country’s fight against
erroneous patents. Discuss the pros and cons of making this database

publicly available under open-source licensing. 12
MWt WE 3Tic wuU ftSR wd*hl Tt 3Tk non
ART3Tt ~ ftfacT gftuTml % I 3

JRM W Ff, sfrte 4)jl<nl IVT NTT ~Bcftt ?

Discuss the Namami Gauge and National Mission for Clean Ganga (NMCG)
programmes and causes of mixed results from the previous schemes. What
guantum leaps can help preserve the river Ganga better than incremental
inputs ? 12
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Q16. *TKcfk n if ~eft | 1 ft* tft, %
N *TM ~r forft (CcTCIT) 3 W A\ ~fw f ITW ft ~A3TF ~
I
The frequency of earthquakes appears to have increased in the Indian
subcontinent. However, India’s preparedness for mitigating their impact has
significant gaps. Discuss various aspects. 12
Q17. TTRATteK ¥fsMdMI$ dJldK N ANTFTC A f % (f~h
~frfn) srf~fwr, 1958 N srfafwT t, ~efr %
£KT JTHerfTOT IW 37fafTO €r RISt
~sMdMich n f ? % mKT ~TtF A"TR % 3
STTATON MefliMHIrHeb iMicM I
Human rights activists constantly highlight the view that the Armed Forces
(Special Powers) Act, 1958 (AFSPA) is a draconian act leading to cases of
human rights abuses by the security forces. What sections of AFSPA are
opposed by the activists ? Critically evaluate the requirement with reference
to the view held by the Apex Court. 12
Q18. fefa<id t snfe WirKm fa
STINTAITIATN. 3 NATT W | L 3TIF T # 1 ~ 3TO 'dft
™D W | ? 3TTLQR3TTEQN ~ 3TTcfft™ TOT
H<AHN N RRIt ?
Religious indoctrination via digital media has resulted in Indian youth
joining the ISIS. What is ISIS and its mission ? How can ISIS be dangerous
for the internal security of our country ? 12
Q19. fei 3 *nl fron » % Wml srNTHr -gftwm
"FRTcfk "RETT 34#C BRTHH, 3T™F TOT W t, fecFR
@EnT~TT) | | sfk HHHKWL  ~ATR %fAT ©
TTWTT 3 WftcT HHIMHTTIf 3?fc 3T[fsfe NOTIRT 3 ft* ~
n# wftfcwr ™ ~of |
The persisting drives of the Government for development of large industries
in backward areas have resulted in isolating the tribal population and the
farmers who face multiple displacements. With Malkangiri and Naxalbari
foci, discuss the corrective strategies needed to win the Left Wing Extremism
(LWE) doctrine affected citizens back into the mainstream of social and
economic growth. 12
AVZ-O-TTDZ
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Q20. frrc ™ Attt I, ma AN gorsit

N IM tef NT? 3*MWdI t | TTk ~TTT Nfcf,
2013 % 3m™tw f* R 3 %ITF ™~ ~AT# ~fTM 2 3RXT ~ W
Nrfcf AT “NH |

Considering the threats cyberspace poses for the country, India needs a
“Digital Armed Force” to prevent crimes. Critically evaluate the National
Cyber Security Policy, 2013 outlining the challenges perceived in its effective
implementation. 12
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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Frferfaa st w1 & 3w €IS Tde s 1 SR SiRiehay 200 3R] # T T&E U9 9HE 24 6 2|

_Answer all the following questions. Each question is to be answered in not more than 200
words. Each question carries equal marks.

10

Tl arefereen 3 v 3 aRoEET St 8 3 AR Y FH g7 7 aed g SrmsERT
7 % R % e b 27

How globalization has led to the reduction of employment in the formal sector of the
Indian economy? Is increased informalization detrimental to the development of the
country? 12%

RA | Afgen aerieeon & T stet asifen stfrart | vrda wem § stet awifén 6 @ sievasmand @
feufa &7

Women empowerment in India needs gender budgeting. What are the requirements and
status of gender budgeting in the Indian context? 12%

g Hft SH-41 A (Fro o So Eho Tg0) SeRfedl I HEATT fam W @M ¥ U oTevEsd 1
T e & 6 3A0 SR TS T A S e o R wmi A s T R gl % R
TEGA S|

Pradhan Mantri Jan-Dhan Yojana (PMJDY) is necessary for bringing unbanked to the

institutional finance fold. Do you agree with this for financial inclusion of the poorer
section of the Indian society? Give arguments to justify your opinion. 12%

T TR W R AT &7 WRA 5 et o # 3R weifirear 1 wheon Hif) @ e andtor qen
el HedrE # Feladl 2rfi? die Fo 3o Yo T 3Ro Fo 3o ofio Wo To fiwH o wael # wd et
forg e g R

What are ‘Smart Cities’? Examine their relevance for urban development in India. Will it

increase rural-urban differences? Give arguments for ‘Smart Villages’ in the light of
PURA and RURBAN Mission. 12%

AT sreferaeen & fash®@ § Tho o 3MEo Y amavashal il g v exaeia wxsiar-smodt qur
T Tho Tlo 3o & &= =W FI 8f YR H s Who o T30l wgM & fIT GURHS
heH Y|

Justify the need for FDI for the development of the Indian economy. Why there is gap

between MOUs signed and actual FDIs? Suggest remedial steps to be taken for
increasing actual FDIs in India. 12%

g gl § gurasft fowm 7 ffea gafht, S0 aems ot SR sAwfe mite ®, 7 fwft $ifm)
T ANl 1 WHAT A 6 39 gATET|
Comment on the challenges for inclusive growth which include careless and useless

manpower in the Indian context. Suggest measures to be taken for facing these
challenges. 127
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7. S-S SE1 A R HAA &7 S-S & Y e A qan Riwwg i 9fien 1 avi Hifg)

Whal is water-use efficiency? Describe the role of micro-irrigation in increasing the
water-use efficiency. 122

8. Uelieittelt w1 27 fifaa F-851 R wye wow vl § g g 1 el Hif)

What is allelopatliy? Discuss its role in major cropping systems of irrigated agriculture. 12%

9. Y foepra # siff gari &1 i hi foomm M) wwa & 9 gurl f awea ¥ e swer wrE
I fufga <hifsm)

Discuss the role of land reforms in agricultural development. Identify the factors that
were responsible for the success of land reforms in India. 12

10. 9RdE FN A vl fi affaamett w Fola % =R, woe dw 6 srevenar R Rl ek
9uH W wEe @ A (fo wHo THo fto ARe) it gEr femiaiett w1 3@ iy
Given the vulnerability of Indian agriculture to vagaries of nature, discuss the need for

crop insurance and bring out the salient features of the Pradhan Mantri Fasal Bima
Yojana (PMFBY). 12%

11, 3 & o0l S 6 Adl & Had d R adam fRfa o ww feg S A @iel @ faeor difvm)
TR IcEsish SHS (Telo 3o o) W UHT HEHA % Hew i foa=mn d94q # Hifvm)
Give an account of the current status and the targets to be achieved pertaining

to renewable energy sources in the country. Discuss in brief the importance of National
Programme on Light Emitting Diodes (LEDs). 12%

12. 3Ry fogm ok WeNfh & & # 9yra i sywfsEl ) == e 38 TRfE & 5@ T &
HTfSER-aTTTe T # fohm woR wemEs gom 77

Discuss India’s achievements in the field of Space Science and Technology. How the
application of this technology has helped India in its socio-economic development? 12%

13. fqgen WMeNfiehl (AHeaarst) 21 aed A ygE defifet § ¥ e = 20 afme fiem ek
URNFTR W 9RG SR & Fem & yge et aun 2w % e % we d 5| w@e % a8 % avH
IS |
Why is nanotechnology one of the key technologies of the 21st century? Describe the

salient features of Indian Government’s Mission on Nanoscience and Technology and the
scope of its application in the development process of the country. 12

14. &3 sfelisARd & FEsE % 9 Amg afcml #1 gAaiE w Aeegl gl de g, e W wea
Toag grar B mﬁmmﬁ%m%wwmﬁmm%ﬁmwmmﬁm
<=1 i |
Rehabilitation of human settlements is one of the important environmental impacts

which always attracts controversy while planning major projects. Discuss the measures
suggested for mitigation of this impact while proposing major developmental projccts. 12%%
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15. &% aui ¥ 3= digdl sl a9l % FR0 Rl # 9g h TERal 9¢ W 8| ved &9 % 91g % S w e
A BU TH WHR ) HEIS] 6 SWH SIfaw wW e <kl dmiieEl hit Bemfit wowswm st

The frequency of urban floods due to high intensity rainfall is increasing over the years.
Discussing the reasons for urban floods, highlight the mechanisms for preparedness to
reduce the risk during such events. 122

16. TYH el Yt TR (THo <o THo To) % Gamd! o H-al H, IT@US o el T4M W & & 4
& FeA I TS % GET Pl FH B h T AN T I IUET R == I

With reference to National Disaster Management Authority (NDMA) guidelines, discuss
the measures to be adopted to mitigate the impact of the recent incidents of cloudbursts
in many places of Uttarakhand. 12%a

17. ‘S0 IEWT U ‘Tiedeh YR &l I WM UH: SATqeh) BHE! o foes € wEarel o forg foram St g1 5
TR ol FHEaiedl & el e 6t feesr difsm)

The terms ‘Hot Pursuit’ and ‘Surgical Strikes’ are often used in connection with armed
action against terrorist attacks. Discuss the strategic impact of such actions. 1272

18. ‘Moel F© U A AGHIE Th WRTEIHF I &% &9 H I @ 8l
ITYH FYA F oo Hifg)

“Terrorism is emerging as a competitive industry over the last few decades.”
Analyze the above statement. 12%

19. giu & @ Fo 391 % Wi VAT G % HRO HA FE TH Hlod FE 8| SHIERTE W S
i gHfoE T Wil T SR 2|

Border management is a complex task due to difficult terrain and hostile relations with
some countries. Elucidate the challenges and strategies for effective border
~ management. 122

20. M-Tsa siferdien g0 e T Hiee fifem @ fewwd TigfeitE g s gen & g o 9eg
fiar 1 o B vt € & s guE AR TR gem 87 Iwe Wt i B[ e % foe gmesr
IR IR
Use of Internet and social media by non-state actors for subversive activities is a major

security concern. How have these been misused in the recent past? Suggest effective
guidelines to curb the above threat. 12%

* %k &
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH. |
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question- cun1—Answe1 Booklet must be
clearly struck off. .
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o B T dafy % s wRE § aa w, waif | w  se we § 7
Hgfy WA & FF FM ¥ RS SuweH € ¢ (SR 150 Y= H )

Among several factors for India’s potential growth, savings rate is the most effective one. Do
you agree ? What are the other factors available for growth potential ? (Answer in 150 words)
10

srr-we Rt % den @1 w4 & fafmin & 6 ke & Ro ST | gS-uaE
frafal f e sfie sm-wae Fafd & fw, ol @ gEE | (SR 150 &l # 3)

Account for the failure of manufacturing sector in achieving the goal of labour-intensive
exports. Suggest measures for more labour-intensive rather than capital-intensive exports.
(Answer in 150 words) 10

ardifrer-Freft S (i) wred % sitfiT dgh SUSHAT F WO W WRd § e &
frrm &1 e ifrg | 58 gEg F e % gEg s @ ol € 2 (I 150 w=&
7 3)

Examine the development- of Airports in India through joint ventures under Public-Private

Partnership (PPP) model. What are the challenges faced by the authorities in this regard ?
(Answer in 150 words) 10

TRe W T % =g N+ oS e weRt i srifedt i eve Rt | 57 wifoEl ¥ wRa # st
I SR TR ERE W TR R HerEaT WeM A 7 (SR 150 wedt 6 <)

Explain various types of revolutions, took place in Agriculture after independence in India.
How these revolutions have helped in poverty alleviation and food security in India ? (Answer
in 150 words) : 10

AR THTE BT WHEOT T[Sl oY ESIRAT % T FRO § ? TR WHAY IHE IR
St B ahrE-aRiE R #t TR Son § fe weR @eEE ol 7 (IFR 150 U=
F %) | ‘

What are .the reasons for poor acceptance of cost-effective small processing unit ? How the

food processing unit will be helpful to uplift the socio-economic status of poor farmers ?
(Answer in 150 words) ' 10

wifie, emifin, afera @i 9 iR g wfe gtwga fafeaia quel # 9ER &%
¥ frg wra # @ it fafren et S 1 @ R | g8 # avir A R wn wfie
IR T BT & 3R o IIERT A e § 96 9 A € 7 (STR 150 y=l # Q)

Stem cell therapy is gaining popularity in India to treat a wide variety of medical conditions
including Leukaemia, Thalassemia, damaged cornea and severe bums. Describe briefly what
stem cell therapy is and what advantages it has over other treatments ? (Answer in 150 words)

10



10.

11.

12.

13.

WRA A AgaM 9 We weia faeEl afeq ame-ea saRe fasml § smymor asean w
H 2, dfer we-afea safe feml 3 vy &1 aew 7€ fooar € | ama-afea safke =
e A B OWRIRGRE 9 guETete dfcd d &HREe 94T © 7 HATAMEATCHS  UXIel
HIfST | (ST 150 =t | )

India has achieved remarkable successes in unmanned space missions including the

Chandrayaan and Mars Orbitter Mission, but has not ventured into manned space missions.
What are the main obstacles to launching a manned space mission, both in terms of technology
and logistics ? Examine critically. (Answer in 150 words) 10

Ig 9gd 991 dgdl Y 91T TGl § T AGAT I SgAT T Hheqd1 A, U 3 I8 U A Th
JrAfeRdT adr ST Q€ | Al W Sgd @ BN Al Ol W T 99iERel W O3HG awTfed
THE TR == T | (STR 150 v=er | <€)

Not many years ago, river linking was a concept but it is becoming a reality in the country.
Discuss the advantages of river linking and its possible impact on the environment. (Answer in
150 words) - 10

Wwﬁﬂmﬁa@ﬁﬁaﬁwﬁﬁﬁ%ﬁmwwaﬁﬁﬁmﬁﬁml
(IR 150 y=at # )

Discuss the potential threats of Cyber attack and the security framework to prevent it.
(Answer in 150 words) 10

AR &1 STR-YEia Wy sgd o o 4 Fe-ufia R | o owew ¥ e fage @
afeshiferar & g sro @ e S | (STR 150 =t #§ ) |
The North-East region of India has been infested with insurgency for a very long time. Analyze

the major reasons for the survival of armed insurgency in this region.(Answer in 150 words)
10

2017-18 & HE oS¢ & AT 9l | | THh oyl WRA &l IR AT, FEM SHET
3R ARG T W0 FET ¢ | 56 I29T ] UTH FRA & forg F9¢ 2017-18 H WREHR gRI weaifad
IurEl &1 Tagewor Fifv | (S¥R 250 W] H ©)

One of the intended objectives of the Union Budget 2017-18 is to ‘.transform, energise and clean
India’. Analyse the measures proposed in the Budget 2017-18 to achieve the objective. (Answer
in 250 words) L5

tgemieR st 7 A -Re-ge (RAN.) B e dgfy d siefie wgfy w frash
2 1" T Ay | SR # e ¥ feg g aRed s dafy @ @ aen
A wgl o gem € 7 (STR 250 T F D)

“Industrial growth rate has lagged-behind in the overall growth of Gross-Domestic-Product
(GDP) in the post-reform period.” Give reasons. How far the recent changes in Industrial-Policy
are capable of increasing the industrial growth rate ? (Answer in 250 words) 7+8=15

‘Rl Tl ¥ we sfiEe @ ¥ 7 R T YR & dly Yo o 3EWE SRel TeT © 7

frsomm iy wa amasht dafy ¥ Sum@ gEEd | (IR 250 el A Q)

What are the salient features of ‘inclusive growth” ? Has India been experiencing such a-growth
process ? Analyse and suggest measures for inclusive growth. (Answer in 250 words) 15
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14.

15:

16.

17.

18.

TE G # a3k W R PR o oow % Ry wr-wn wer e ¥ 7 9§ e B e %
e #, wer fafaeiemm frm weR weemR &1aT ® 7 (SR 250 =il ¥ ©)

What are the major reasons for declining rice and wheat yield in the cropping system ? How
crop diversification is helpful to stabilise thc yield of the crops in the system ? (Answer in
250 words) : 15

werfaferar wem ufaey, Wﬁﬁwﬁ?mﬁﬁﬁmf@ﬁaﬁ%ﬂ TR MR el
8 7 @9 3R €W FEhl & fog, wEe ST, SHaH wwde o SR WRI WRER
Hew ® 7 (IR 250 =l A Q) ' - ,

How do subsidies affect ‘the cropping paﬁcm, crop diversity and economy of farmers ? What

is the significance of crop insurance, minimum support price and food processing for small and
marginal farmers ? (Answer in 250 words) 15

AR H AR famme otk wienfireRt & wafg ik fama o1 foaxor vega Fifse | wra &
dq o RAFeX HEhH w1 T AW B 7 (STR 250 =T A Q)
Give an account of the growth and development of nuclear science and technology in India.

What is the advantage of fast breeder reactor programme in India ? (Answer in 250 words)
15

‘mqﬁaﬁﬁ’@%ﬁmﬂw%iwwwﬁaﬁﬁmmwﬁﬁﬁH?m
vﬁaaﬂ%mw%%nﬂﬁaﬁiﬂaﬁﬁuwﬁmmwﬁaﬁr (IR 250 =T
A7)

‘Climate change’ is a global problem. How India will be affected by climate change ? How
Himalayan and coastal states of India will be affected by climate change ? (Answer in 250
words) 15

framar 2004 F TR R AR Sieg 9§ qErdl wnh o | g % e ¥ g P
HRB] UL TE St a7 dfeqaey] R U 9l UG WHED UX FE( oY | UAELUH.U, &

- feam fEam (2010) F wEY H, TH USR A TeARN F CRE SNGH B HF R qaTRal

19.

20.

sth-g-gst

i forfefar @ aofq difs | (SR 250 w=51 # ©)

On December 2004, tsunami brought havoc on fourteen countries including India. Discuss the
factors responsible for occurrence of tsunami and its effects on life and economy. In the light
of guidelines of NDMA (2010) describe the mechanisms for preparedness to reduce the risk
during such events. (Answer in 250 words) ' 15

Wi # sitg TET U WHR HEA SR e eWe & §9 A I @ ¢ | IUITh SEeRT 3
B, 3 WSR & feen & @ron g it @ s Fifg | (SR 250 w7 §)

Mob violence is emerging as a serious law and order problem in India. By giving suitable
examples, analyze the causes and consequences of such violence. (Answer in 250 words) 15

AT ht weTadt e ween & ford we iR g ® | 36 S gy e frmm
FA F o T F-F0 T A © ? AR MR S oW '@ F=mn g 7 (I 250 e
7 3

The scourge of terrorism is a grave challenge to national security. What solutions do you

suggest to curb this growing menace ? What are the major sources of terrorist funding ?
(Answer in 250 words) 15
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w1 A 2fiE wes-dftan w) waE 8 o
TE-HE-IW g | =l 28 T R U wem mwoE oam w gl e 3

GENERAL STUDIES (FPAFER-III)

Time Allowed : Three Hours Masximum Marks ; 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
[Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL guestions are compulsory.
The number of marks carried by a questionfpart is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer [QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
QT

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nog. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1. “awin (tedea), Reaeda, aoin sy w1 T vfe ol (g frem el
(m@e Fio we) T WH FA F fom afrad ) v § wm e § g ol w feol it

(2 150 = | Sifan)

"Access to affordable, reliable, sustainable and modern energy is the sine gua non to

achieve Sustainable Development Goals [SDGs)." Comment on the progress made in
India in this regard. {Answer in 150 words) 10

2. Fa@ a2, 2018-2019 F dnjwfaw {0 sfem 5 (rme e sfie Ho) T wvim famm =
(fle dle o) & dag T urw Fo o s afed w el fifim (3w 150 = 3 A

Comment on the important changes introduced in respect of the Long-term Capital
Gains Tax [LCGT) and Dividend Distribution Tax (DDT) in the Union Budget
for 2018-2019. (Answer in 150 words) 10

3, = gede geg (vHe wHe dle) § AW T wAEH A7 A9 #9449 w0 W e oam e |

g wEn == W=y (T 150 ws # Hifsm)
What do you mean by Minimum Support Price (MSP)? How will MSP rescue the
farmers from the low income trap? (Answer in 150 words) I0

4, Fl, wfea o wwE vl F g geen waae § gewmen B gfre ) wte fifsn) 3 R
1 g #1589 ven @ oW o § (3W 150 m=Et B dfm)

Examine the role of supermarlkets in supply chain management of fruits, vegetables
and food items. How do they eliminate number of intermediaries?
{Answer in 150 words) 10

5. Mo w4 919 g B e m-ameers el 3 v w w= i o i & v e

TR Wi F A § Wi = oA o (I 150 = & dfam)
Lriscuss the work of ‘Bose-Einstein Statistics' done by Prof. Satyendra Nath Bose
and show how it revolutionized the field of Physics. {Answer in 150 words) 10

6. Toion Zeqd fen 1@ Tk e 3 Wt o feme o w1 P 3§ s e 7 oo
e am ofdn 8 s AR oW @ weie s S gl v @ e v w owwa B
(Im 150 7= & Hifan)

What are the impediments in disposing the huge quantities of discarded =olid
wastes which are continuously being generated? How do we remove safely the toxic
wastes that have been accumulating in our habitable environment?

fAnswer in 150 words) 10

7. AWM Fn R Im wEm F Hed 4 gigwengd avEm’ R o weer wowe fife) w3
T wE] F A IEe E T dife) (I 150 W= § Afm)
What is wetland? Explain the Ramsar concept of ‘wise use’ in the context of wetland

conservation. Cite two examples of Ramsar sites from India.
(Answer in 150 words] 10

L& T-5-45T/40 2



B.

9.

10.

11.

12,

13.

14,

fufem wma & nam “AfE o= ¥ A 0w offlufe o anlls w wn-w A 8
(FW 150 =41 § difim)

Sikkim is the first ‘Organic State’ in India, What are the ecological and economical
benefits of Organic State? (Answer in 150 words)

iR -wifrs safi wfe (He de do o) B AR F g sty Ram T T 0w e
IEE % TF qEqA 9T ¥9 8 T W @ 31 He e do die w1 uw wiem i wign i s v
T TR TR FA % o fiemn (3 150 7=t & Hifam)
The China-Pakistan Economic Corridor (CPEC) is viewed as a cardinal subset of

China's larger ‘One Belt One Road’' initiative. Give a briel description of CPEC and
enumerate the reasons why India has distanced itself from the same.

(Anawer in 150 words)

T TrEe § Adweh s @ b g A of 3w % s wm e mafae B A
TR T W FaE e w0 % B v wen F e S wem 4 e Rifie
(Fm 150 w==) § difiw)

Left Wing Extremism [LWE) is showing a downward trend, but still affects many
parts of the country. Briefly explain the Government of India’s approach to counter
the challenges posed by LWE. (Answer in 150 words)

w8 iy s g s B e @ e R W F 9 aEm s Sgahn e 8 R

R fim #7 (I 250 Tl § =ifam)
How are the principles [ollowed by the NITI Aayog different from those followed by
the erstwhile Planning Commission in India? (Answer in 250 words)

fawa =mw § wgmEe sl gm SwEnfaE) f we f gfteand grm o i -anfis T =

wEn # wariEa =i (3w 250 = § )
How would the recent phenomena of protectionism and currency manipulations in
world trade affect macroeconomic stability of India? {Answer in 250 words)

=EF EE 3 TeEn, IR e vg s 8 9fy v | i el e (e wEe whe) &
it ) e Fifen) gz el £ oo e § w0 T Twa e B
(39 250 w=1 | difam)

Assess the role of National Horticulture Mission (NHM) in boosting the production,

productivity and income of horticulture farms, How far has it succeeded in
increasing the income of farmers? {Answer in 250 words)

T A W T N wHel W 3 wen Y 8 fen owen ofteds o B 87 6R s (P %
T sl Imim woaw ) fremgds o il (T 250 W= § Aifm)
How has the emphasis on certain crops brought about changes in cropping patterns

in recent past? Elaborate the emphasis on millets production and consumption.
[Answer in 250 words)

10

10

10

15

15

15

15
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15.

16.

17.

18.

19.

20.

=1 wW0 2 R Al 29 0 O Pefell % O A ariuw wfieam &7 afeam A egieml F dm W

R Emy g ¥ (T 250 W=t # difim)
Why 1z there so much activity in the field of biotechnology in our country? How has
this activity benefitted the field of biopharma? (Answer in 250 words)

i 1 Gwd g T & Ui § w0 ARG F A AR F SEEn w1 e wmn anl wmn
aifee? Tifvdm == 4 deiia Al vE wE F faeen fifim (Fo 250 =t # Hifm)

With growing energy needs should India keep on expanding its nuclear energy
programme? Discuss the facts and fears associated with nuclear energy.
[Answer in 250 words)

A 4 S fafaum feg wen wem-aem oE Wl BF samfmm s wiftem F doem #

4 Tafawm wifufam, 2002 & =0 aws 27 (Zm 250 e § )
How does biodiversity vary in India? How is the Biological Diversity Act, 2002
helpful in conservation of flora and fauna? (Answer in 250 words)

iR # wwm wifEn S (fe sme ame) % fom Hed smen sitfem =g e
(2015-2030)" wmyfE %4 § 90 14 0% weE fw o fie e = avie i)  w wey
Wi wriEE wew, 2005 B fBw owEn fim R (Zm 250 = & dift)

Describe various measures taken in India for Disaster Risk Reduction (DRR) before
and after signing ‘Sendai Framework for DER (2015-2030)'. How is this framework
different from Hyopo Framework for Action, 20057 (Answer in 250 words)

afrrga (fefremee) ghm @ 990 7u 9E SEM F FEM IRT AN W 9EA A9ga 9% T R
#fErg die wRo fien winfa fdd 4 = A wean # wafim @ W We-faEw o R s
T A A wm 8 Pl oz of) guen @ gafie e fedd R et el enfal wnown B

(Ze 250 et 4§ i)

Data security has assumed significant importance in the digitized world due to
rising cyber crimes, The Justice B, N, Srikrishna Committee Report addresses
issues related to data security. What, in your view, are the strengths and
weaknesses of the Report relating to protection of personal data in cyber space?

(Answer in 250 words)

HAT F T HEH 7% 4w W 3 9 e | Wi o e 3w & i gun e
=71 T &1 Aol 2909l & 93y =R v 9 39, O A R W o e el A aEe
iataeE % H w=hm F1 e Fim | ek w= sl F e sn-wn gl s e am
ey (zm 250 w=1 ¥ difem)

India's proximity to two of the world’s biggest illicit opium-growing states has
enhanced her internal security concerns. Explain the linkages between drug
trafficking and other illicit activities such as gpunrunning, money laundering and
human trafficking. What counter-measures should be taken to prevent the same?
(Answer in 250 words)

15

15

15

15

15

15
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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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3 Fves FU F AR S wRa § 9wg @ A W (e wHe Fo) F wilferd fru mu ¥ wwa
g 2017 ¥ Frfam sfto we Ao F toma gl w o fRowft Hifvm

(I 150 w=at | o)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words)

. Y T HA § HERd € % wee e IR (Sfte o dio) fit wmh wafg qun i geedif F
FRO R eferae =S fufa # 37 9w a6l F wwed § o difm

(IW 150 w=a1 # €ifm)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.
(Answer in 150 words)

THiFd FH Tl (3Mge Tho THo) TRE WMl 7% FM I HI wutiE w0 wewF 27
(IW 150 =i § difem)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words)

. -yioatd &= ¥ FY I § gfg FE A wiE So-favess afEee % oave B afian e

Fifm (IM 150 w=a1 # difsm)
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. (Answer in 150 words)

. TSl 3R FH-fagm % &= 7 FmEe: W o [ 3R glo Wo who Wiy ¥ Gl |
WA H FFE TR @1 ugen ot (IW 150 w==i 7 difsr)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? (Answer in 150 words)

A I 3191 T H1 AN $5 TW FE 7 Qe 2 R eaR il FEEn #1197 TR uer

AN TEET? (IW 150 wi=a1 7 difsw)
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words)

. T 91 G, 9 9% 99 8 A1 339 R, FAR i 6 4 ged o2 @l § § 0 ¥ IR @@
WA R AR G % 99E I, TfE e w1 gaen W g, favewn S
(IW 150 =i § i)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words)

SDF-G-GST/41 2
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8.

10.

11.

12.

13.

14,

g1 w9E] 3R A % e S @ ) afonfia 0 F fn S o sreaevas 9w ) sanedt
% fd Seran 1 R yER 3R - alewl % a1y Sfe-Rew B o1 s 27 seeett ¥ ged &
Jgar & fafim vl w 9=t fifsm) (IW 150 wr=a1 # <ifere)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

S SR FYHR A S-SR R I T @ ATk Sl I werEdl vgen § sfy-3al
FEFAA (o fo Txgo) N i waM F1 F5 o T B | U (FTad) WA A § SAaward
TS| 1 FEd UgeaH # qfi-37R FEEdis g P s @ e @ wdem i) il
FEHAHA & TqE F Ffae w0 % I f == it (3| 150 w=a} | difsm)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words)

T3ee™ IiEeE #1187 w98 Hifse 6 wra § Setie suyl = Fafim #3898 R yeR g

B Ghal gl (IW 150 vi=ai § ifsm)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words)

Tz T fean s & T wmanht wafe & wHif 1 smem wwray wamafi ok arofar & st
T fRa S R 39w W Rugefi fifsm) (3| 250 w=a1 7 €ifsm)

It is argued that the strategy of inclusive growth is intended to meet the objectives of
inclusiveness and sustainability together. Comment on this statement.
(Answer in 250 words)

IT-FEH I F N, wwe PRl F wed #, dis 9 yEE WG WER F 9He T g )
3Eh! e i) (IW 250 vr=a1 # <iforg)

The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.
(Answer in 250 words)

S faawor womeft @ sfie gl R ¥ WER g FH-FH ¥ GUIHS FEH I3 Y §Y

(I 250 w=at | difvm)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

TRl YEER g i AT & EEIeE g WG 9hR g ST9ATE T8 i ) aferan s i)

(3| 250 =3} # i)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words)

10

10

10

15

15

15
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15.

16.

17.

18.

19.

20.

Sl FufEl F g sngfdTE % Tife 79 F ¥ = | T T TR T T AR T 27

(IW 250 =3t # difsm)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words)

frarl ¥ Sfea T B 39 F9 F fou sm fefeh R yer gema e 27
(3W 250 w=a1 # i)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words)

e A gafi wifeafes @3 1 98 awa ) GFeq i gt 9f) we fife fF R wen
Heatqnti foreera (Teae WagHe) F A S0 GHT §6 FHoT Bl TEGET FE FER AEw 2 |

(IW 250 w=at # <ifo)

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words)

freft ot HIYE EEA WA W TR SAH! UEen HeW Bl B | sEEeH & WHAl §, T8 Hif fF dhe
IgaE Al R TR e el § HeE S| (IW 250 w41 7 4ifm)

Disaster preparedness is the first step in any disaster management process. Explain
how hazard zonation mapping will help disaster mitigation in the case of landslides.
(Answer in 250 words)

NG TR 3 ' & A fafufeg framem (Famm) sifufem (3o wo dio wo), 1967 3R
o 3Ro To ARMAN F TG % TR ATHFAR-UH 1 HI Tty &1 ¥ | AR &1
7m0 fafufieg framsem (Framm) sfufam 1 flg +@ ¥ frar ot Froll = == [ @99 967
g uiEw & geo #, yiEddl # favewe fife) (IW 250 =2l # difem)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
(Answer in 250 words)

SR-qdl wra § STt A @ % R e, Him A gffim % aen ene g i 3
A Fael TF B| HG-SHR W F SR S4HH d SRy g areht faftm o w0 whem i)
Ty & il #1 afely w9 % weE W == Hifg) (IW 250 w=a1 # 4ifsm)

Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words)

15

15

15

15

15

15
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QUESTION PAPER SPECIFIC INSTRUCTIONS .

(Please read each of the following instructions carefully before aitempting ques

tions) '

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL questions are compulSory.
The number of marks carried by a question/part is indicated against it.
ate which must

Answers must be written in the medium authorized in the Admission Certific
ver of this Question-cum-Answer (QCA) Booklet in the space
jum other than the authorized

be stated clearly on the co
provided. No marks will be given for answers written in a med

one.
150 words, whereas answers to Question

Answers to Question Nos. 1 to 10 should be in
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.
Any page or portion of the page left blank in the Question—cuin—Answer Booklet must be

clearly struck off.
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D L T8 CRLIS S R B B B e B S

B e i o oo g
ST S A SO

TN

¢ FNCFIAA § 19 47 qoer & 3R 7 wreen 8 3 A 7w W @ A7

1. WW@MW%WW%W@WW%W@WWI
. ' (I 150 =t 7 v

Explain i'ntra-generational and inter-generational issues of equity from the
berspective of inclusive growth and sustainable development.

(Answer in 150 words)
YT Ho Ho Jo (Sho o o) =l gRifig ARTT qon 395 Pufet 6 s S 3 $H-8
R §, S AR B AW WA o Ho Io (Sflo Fo o) ! WHR F ¥ Vhd @ &7

(W 150 w=at § ARMm)
Define potential GDP and explain its determinants. What are the factors that have
been inhibiting India from realizing its potential GDP?

- WRd A HfY Il % Y oo faeom § g snand @ §7

(Answer in 150 words)

(3| 150 7= § i)

What are the main constraints in transport and marketing of agricultural produce
in India?

(Answer in 150 words)

q T v 8 ) iRl s s 7 we weR B e w6 em §

wiE gig HY B S T R
’ (SW 150 vt & Aifvm)

What are the challenges and opportunities of food processing sector in the country?

How can income of the farmers be substantially increased by encouraging food
processing?

(Answer in 150 words)

(S| 150 wr=a} i)
What do you understand by nanotechnology and how is it helping in health sector?

(Answer in 150 words)
gRe @ &7

._,ﬁm%’qﬁsﬁwﬁnﬂu—éw%ﬁgmgm%?ﬁam-mmma\ﬁ%ﬁmaxﬁﬁmng

(FW 150 W=t #§ i)
How is science interwoven deeply with our lives? What are the striking changes in
agriculture triggered off by the science-based technologies?

(Answer in 150 words)

e guE e ($o amo'ﬁo) ST, 2020 FTEY AT o WMo To I, 2006
NCETRDES T

: , (W 150 vi=t # difvw)
How does the draft Environment Impact Assessment (EIA) Notification, 2020 differ

from the existing EIA Notification, 2006?

(Answer in 150 words)
G T& S G g WRA WEHR §A1 Yafod S i AR 6 9@ fsvard +=n €2

(S| 150 Tt # i)

What are the salient features of the Jal Shakti Abhiyan launched by the
Government of India for water conservation and water security?

(Answer in 150 words)

URC-G-GST/21 2
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- . (W 150 7] F D)
1scuss different types of cyber crimes and measures required to be taken to fight
the menace.

(Answer in 150 words) 10
%nwwmwm%gﬁmhﬁaﬁxmm

ﬁq%éﬁam%mm?ﬁﬁéw

ISR 3R 221t it 3 s wron s 3 0% o e

(FW 150 wr=3t & <)
For effective border area management, discuss the steps re

quired to be taken to
deny local support to militants and also suggest ways to manage favourable
perception among locals.

(Answer in 150 words)

L1 T srfeqaean § st fwfor % vy % fafdm & a1 <t =re | 7 SR A R SR, R
T TS T O el o % wen feotrr sgee (S8R BRRe) SR w0 wm R fe

ST =R
(IW 250 w= & i)
Explain the meaning of investment in an economy in terms of capital formation.
Discuss the factors to be considered while desi

gning a concession agreement
between a public entity and a private entity. )

(Answer in 250 words) 15

137 75 W ¥ R (T A af) s, 2017 % o A smen B ARE-10 3 R
T T HA R g Tl (o THo Fo FIATRR W) B iR ok T W et H I
Toram 27 '

(IR 250 vt & §ifvw)
Explain the rationale behind the Goods and Services Tax (Compensation to States)

Act of 2017. How has COVID-19 impacted the GST compensation fund and created
new federal tensions?

10

' =
. ) m
Mmﬂnm‘”rn R ﬂ

(Answer in 250 words) 15

. M- JOIel Y WA SHM % T BH-8 g wRe IEr §7 76 ahe § SR 98 YOel SRa
7 ey 58 79 T 27

(W 250 T=1 & Eifv)

What are the major factors responsible for making rice-wheat system a success?

In spite of this success how has this system become bane in India?

(Answer in 250 words) 15

/ﬁﬁmvﬁgwﬁﬁéﬁmwﬁn%ﬁmmﬁamﬁxﬁmimsﬁﬁw%wﬁﬁml

(W 250 T A <)

Suggest measures to improve water storage and irrigation system to make its

judicious use under depleting scenario.’ "

(Answer in 250 words) 15

URC-G-GST/21 3 [P.T.O.
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. 15¢ 9ifte-19 ey e 3 o |
/;ﬁ%ﬁﬁaésmmﬁ mgaﬁ'@fa'é'mﬁ%lamﬁ,sanrﬁmqﬁﬁam
T’”‘T@t@}[ %znsn % =
ﬁﬁ,m@mwl A |WW€FIWW%W%§W@@G{§?@I

(IW 250 ==t § )

Co _ .

tecl‘\: IDI 1? pandemic has caused unprecedented devastation worldwide. However,

ac nological advancements are being availed readily to win over the crisis. Give an
count of how technology was sought to aid management of the pandemic.

(Answer in 250 words) 15
//”:”c';w3”“"éﬁﬁqﬁﬁ‘ﬁ*m%ﬁg&wfmwﬁ%mtﬁwmhﬁﬁmwmﬁ
TR SR ERT TEgd Yee 947 §7

(3| 250 wi=at & difSw)

Describe the benefits of deriving electric energy from sunlight in contrast to the

convefltiona_l energy generation. What are the initiatives offered by our Government
for this purpose?

(Answer in 250 words) i 15

/mﬁvwm mw%qmu@awa@m (TTo Hio To dio) A w@ foeiwand = €7

(FW 250 T=a1 # i)

What are the key features of the National Clean Air Programme (NCAP) initiated by
the Government of India?

(Answer in 250 words) 15

Wwﬁwmm%m@mmmmmwﬁwmﬁ
| o= ifstg) -

(S 250 =t § i)
Discuss the recent measures initiated in disaster management by the Government
of India departing from the earlier reactive approach.

AU (Answer in 250 words) 15
19, A % i v ardeft v % fekes @ §7 w86 ¥ w3 vhed s e, At
TG T GRENT STcll ol fohe |TAfhT ol TN =TiRe?

(IW 250 TR A AF¥)
What are the determinants of left-wing extremism in Eastern part of India? What

strategy should Government of India, civil administration and security forces adopt
to counter the threat in the affected areas?

(Answer in 250 words) 15
20, st gean = aun e Yar afa =R, S iR wieee gl w dE-a seadt 5
ferveren Aiforg) Faferm guan wreil gr 3@ e Ford T it <R feden ot iR
(W 250 TR # i)
Analyze internal security threats and transborder crimes along Myanmar,

Bangladesh and Pakistan borders including Line of Control (LoC). Also discuss the -
role played by various security forces in this regard.

(-0 [mp?ﬂ}[[‘{/s |
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T Jg994 / GENERAL STUDIES
T94-9A 111/ Paper 111

Reaffa a7 : @ a2 37ferpaq 3% : 250
Time Allowed : Three Hours G S 3 2021 Maximum Marks : 250

90 wraelt favie srgew
FaT AT & I 37 @ g BRI TR g # sarges uF ;
P & 797 157 70 F 1 @t Sk srdeht 9l o0 gu
a4t go7 371 & /|
Yo Jo /97 @ [o7¢ 199 31% 363 & 7T 18 & |

Yol & I 3 Fifdha qreay 4 for@ 7 =Ry aer 3@ Jraed Yav-9a 4 far T 8, i 34 arem &7
T I NoH-HE-IH (F.41.0.) JEs & JE-78 R Al w6 W 9 GH7 Fi8e | gifigd aream &
SR 1= fadl 7Te ¥ ford 1T 3T | HIE 37 781 [ |

97 GEIT1 @ 10 7% 7 30X 150 1551 7§ 797 I97 G&AT 11 @ 20 7% &7 I 250 151 7 e |
X1 d 317 v FAT F1 e 7 AT |
YH-8g-IR (. 41.T. ) a1 4 @It 918 717 FiF g3 37<aT §53 & Y77 1 Qi Hie Ay |
Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

WRd 1 Fehel W] 3crg (SH.Edt.) % ad 2015 % qd aun 9 2015 % wvEw
ufteher fafyr # st it samen hifs | (150 sgi | 3w &)

Explain the difference between computing methodology of India’s Gross
Domestic Product (GDP) before the year 2015 and after the year 2015.

(Answer in 150 words)

ol S92 A1 U9 991 & e I T hIfST | 39 g1 aiel & Huea! @l

THIST | (150 Wrsa1 # IR &)

Distinguish between Capital Budget and Revenue Budget. Explain the
components of both these Budgets. (Answer in 150 words)

< % HD 9 A gt gurt 7 dwia o @y feuel ) gmfies-anfie feafy &
U % o foper wohr werar i 8 2 (150 wise) # IeR ifm)

How did land reforms in some parts of the country help to improve the
socio-economic conditions of marginal and small farmers ?

(Answer in 150 words)

WA % 91 ehe o TUIH H, gen-fa=ms 8 iR form dim o games 2l 2
(150 wsq] # IR i)

How and to what extent would micro-irrigation help in solving India’s water
crisis ? (Answer in 150 words)

S-400 &S &N e, fova 3@ Ty Suetew o= TRt wonet Y qern # few
TR © qehrh! €9 8 953 B ? (150 IIsal § IR i)

How is S-400 air defence system technically superior to any other system
presently available in the world ? (Answer in 150 words)

TS, 2021 H @ H fawa & Aaret & fret aiem § e d 26 dyw U
SieraTy IiEad Fed |, ey it T8 BRa fire ued o wieH T i |
IS TR TT3aYH (3M8.08.T.) # I8 foam vgeht ar wve feam ma o 2

(150 Srsq} # IR i)
Explain the purpose of the Green Grid Initiative launched at World Leaders

Summit of the COP26 UN Climate Change Conference in Glasgow in
November, 2021.

When was this idea first floated in the International Solar Alliance (ISA) ?
(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Q1l.

fova wameen Wed (S ua.aM.) g B & # 9 fohy o wifoa e @y
e feenfadEt (TRl Sh.) % gea femgett @1 v it | famma 2005 % st @,
3 fora yopr i 8 2 39 Toifea aFehl = 9Ted w3 & g, W%U@amw
sy H foh aitadHl i Taehdr 2 2 (150 1sai § I difom)

Describe the key points of the revised Global Air Quality Guidelines (AQGs)
recently released by the World Health Organisation (WHO). How are these
different from its last update in 2005 ? What changes in India’s National Clean
Air Programme are required to achieve these revised standards ?

(Answer in 150 words)

YT HEUd Hehel o fTT Ra <t Serar it fagemn Hifse | fiest &= gwepl 4, wra
%ﬁﬁamﬁwmmﬁmﬁ%mm%ﬂwﬁ%m
AT | (150 ¥t & I ifirw)

Discuss about the vulnerability of India to earthquake related hazards. Give

examples including the salient features of major disasters caused by
earthquakes in different parts of India during the last three decades.

(Answer in 150 words)

== Hife 7o fope wohr 3wt senfirferart o Svdieor o+t wifegn & e wta
7 | T 3R =i gt Tl W ot «Aifgn Y awen @ fued % forw fove oM
el YT bl foedR & 9T | (150 Wsal 7 IR <)

Discuss how emerging technologies and globalisation contribute to money

laundering. Elaborate measures to tackle the problem of money laundering
both at national and international levels. (Answer in 150 words)

W sl 3R Y&t 1 &H § TWd gL, HH-91 ¥ 84 el 15’ g9l & 99
w1 fawwo Hifvw | @y &, ¥ ufced awen & foeg wiers syl o=l
i | (150 wsql | I i)

Keeping in view India’s internal security, analyse the impact of cross-border

cyber attacks. Also discuss defensive measures against these sophisticated
attacks. (Answer in 150 words)

1 AT FGAA & [ WRAN AFTaTT 4 g & ¥ V-3HR & TTocdH H1 W
foran 8 2 R wfga o194 3w i gfte hifsie | (250 wsal # 3 )

Do you agree that the Indian economy has recently experienced V-shaped
recovery ? Give reasons in support of your answer. (Answer in 250 words)
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Q12

Q13.

Ql4.

Q15.

Q16.

Q17.

“Hrerat wa gurasht i wafg & fou snurfie-seawmt 4 faw smevas & 17
TRt 31gve o aiged # foaemn i | (250 wrsgt & 3w i)

“Investment in infrastructure is essential for more rapid and inclusive
economic growth.” Discuss in the light of India’s experience.
(Answer in 250 words)

Tsia @ glen sAfufEm, 2013 6t gea favvard w@n € 2 @ geen GeEs 4 9a
9@ AT HUITY Bl G A § foRE TR FEEar H 7 ? (250 Weal H I I10)
What are the salient features of the National Food Security Act, 2013 ? How

has the Food Security Bill helped in eliminating hunger and malnutrition in
India ? (Answer in 250 words)

st fafaudr & amer disr FAtfaat = 8 2 3wt stenfiferat waa fafaudr & fog
e T 31T Y T B 2 (250 gl ® I i)

What are the present challenges before crop diversification ? How do emerging
technologies provide an opportunity for crop diversification ?
(Answer in 250 words)

I SA9-Tenfieht 7 sy g e -arardt Iuaferat @ 2 2 3 Iuafeit aure
& e ot & Ica™ # fopa yeRR wETe Bt ? (250 eaT | I GiY)

What are the research and developmental achievements in applied
biotechnology ? How will these achievements help to uplift the poorer sections
of the society ? (Answer in 250 words)

Ty 2014 # iifoes fosm & Tee QPR G ®9 A MM, T G AT i
1990 % g9k H el Ter.3. €Y. & erfashr & fore wem foram mam on | 39 swfasshr 4
HHa-1d o efe Sfiad 1 fopm wepr gwifera fomam B 2 (250 wrsai § 3w i)

The Nobel Prize in Physics of 2014 was jointly awarded to Akasaki, Amano and

Nakamura for the invention of Blue LEDs in 1990s. How has this invention
impacted the everyday life of human beings ? (Answer in 250 words)

GIH TZ FAdTg Ui SHaeh Trier (0.0 4d.) & H.enf. & 264 &
% yq@ Rt %1 gl HifSe | 38 ae § aRa gra i TS JeEeEgar @& 8 ?
(250 Srsal # I difS)
Describe the major outcomes of the 26th session of the Conference of the
Parties (COP) to the United Nations Framework Convention on Climate

Change (UNFCCC). What are the commitments made by India in this
conference ? (Answer in 250 words)
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Q18.

Q19.

Q20.

Yrger & fafie wron ot wwat o1 avla iy | odl goeeeR Sifen weuE

WiHifd % wEwqel Teehi i oo HFIRT | (250 weaT & I Afvm)

Describe the various causes and the effects of landslides. Mention the

important components of the National Landslide Risk Management Strategy.
(Answer in 250 words)

WRd I ARk G % ol ST TS iR AT FRA gRT Seqd SgaTm
et =1 fawcivo hifw | 39 Gehel 1 gepeen 1 U eI Syt o
==t T | (250 Ieat # I &)

Analyse the multidimensional challenges posed by external state and non-state

actors, to the internal security of India. Also discuss measures required to be
taken to combat these threats. (Answer in 250 words)

HAdehd g hl Afearar 3R fierar, 30 HRON, Tra-al qo IR T H1 faveivy

HITTT | ATGHATE % TR F IYEH » (07¢ IS IH a1l 3T 1t gaa A |
(250 wrsgi # I ifo)

Analyse the complexity and intensity of terrorism, its causes, linkages and

obnoxious nexus. Also suggest measures required to be taken to eradicate the
menace of terrorism. (Answer in 250 words)
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CRNA-X-GST
= 3egd+ / GENERAL STUDIES
- u94-ux 111/ Paper II1
Frafha e : @7 52 CS 3 2022 | s 7% : 250
Time Allowed : Three Hours Maximum Marks : 250
g wraet favie srew

g i & 3 3 @ g Ao el SR #) SrgdE 0 :
Fo7 ae 597 127 77 & it Rt 3ik st Gl H 59 §TE |

@t go A & |

Y /9T % forg e 37 3q% amE [T e E |

wﬁ%maﬁyﬁgmmﬁ%@mﬁwﬁqmw@mm—wﬁﬁmwa 37 3G HISTT FT
e PG J-E-I (F.HT.) JEH F JE@-Y8 W AR T W T e | Jifigd e @
Rl 3= e aream 7 ford Y T W FiF 3% T8 e |

| gvT @EAT1 @10 7% T IV 150 IEFT 7 a7 99T G&AT 11 8 20 7% FT I 250 Ire5i 7 Fforg |
yo1 § shid ez Har # & 7 A& | |
99853 (7. 9.T.) Jicaw § @refl 81 77 FE 758 S7aT §B & YT ) Qol: Fe G |
Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

e atam e § et B aEed (A9 B s w6
% 29T 3 Yo e & g § 0, wiew Byl @ e S |
(150 w1t ® 3T i)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

HT W AJTEIT & F=ria qHaS e Gua 2 2 yig § onfis fysm 6
wiftd % fore forefta qumaw & wew &1 Seog Hifvm | (150 wrsgi ® I o)

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

WA | g faa et (hodww.) i wpe gfEt ®=0 E 2 @ e s
ST AT qTEEfT SR S "ehaT B 2 (150 weal # I i)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

WA H @Te SRt JE o Srien 3 qEw & afer auig i |
(150 3rsg} § IR i)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

o # oy wwifean # o 9fy @ www A 7 e gft wd B 6 ¥ | W
T3 et S-S o § 3R I G ¥ TR HEW I AN IFEAEF B 2
(150 wrsgi ® I difom)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gl 1 wdg W 9l a¥ 9 A § Swedfd verd, do@w, W oA 9 € | 98
aerd o wpfess wfshanetl & qorar & fre@ 6 a8 s emeeaEe, S 9
3 AT IcuTel H gRafda & ST R 2 (150 weal # I i)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Q11.

To% fmi, w3t I ) HEw od §U ierhiee Wi i fawmgEs ==
HifrT | 1999 F MIaT Tehiet I AT | (150 Teq) § I GHrT)

Discuss in detail the photochemical smog emphasizing its formation, effects

and mitigation. Explain the 1999 Gothenburg Protocol.
(Answer in 150 words)

i IUHEEY % ged § area wed 1 frafafy i we w aummse | T & @
JeTawt st =t IR | (150 Weal # I Afve)

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

Tfad e % YRR il T=l e | TP IR AT T W HNg wfed
MUY 37 ATGRATEAT & o= Gagl 1 auid HIfFT | (150 Isgt H I )
Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

wRa # wqgl guen At w= ¥ 2 wd geen § gun % fau Y 1S e,
! ik wfpaTe el 1 e Hif | (150 wdt § we Afvio)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words)

“erer Tl 1 aniieh forehr o Searewar § gfg F RO W g B 1”7 3@ HeH
1 TAIEY | W@ dafg wfeey i wwarfaa Hifve St om Ieargsmar @ wwgiar fohe fom
1feres UoTR Icafel # @™ &1 | (250 vegi § I )

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity.

(Answer in 250 words)
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Q12.wamﬁsﬁanﬁwmﬁﬁmmwso‘mm,ﬁzoww

Q13.

Q14.

Q15.

Q16.

TlHMA St A T AT ? 3 I FH it B fag Hifvwe | Sharw S @
afedl Fee 30 FHT St didl § wm SR v ufd § fhe yeR gees
BT ? AT | (250 edi F IR i)

Do you think India will meet 50 percent of its energy needs from renewable
energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain.

(Answer in 250 words)

WA § FN Il F fawom fit Fedgeh o seigE wiEm § gew s @
8?7 (250 wsgi # 3w dif) '

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words)

wafehd Y ot w1 2 2 wRd # B o diwid fraE % fow 9w B evers @
el 8 ? (250 Ieal # I Afm) |

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words)

25 fommar, 2021 %1 Bre1 TN I 39 iaRe Aefiehy aft A wurER W= geT 2 |
3ud UEt BB " e fadivand ¥ S 3@ 36 TRe ¥ oiahe SR ¥ i
S § ? 36 M % g 4w w0 & 2 e i & e s g gl o @
Thd 8 ? (250 IIsd # I &)

Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this

mission ? What potential benefits does it hold for the human race ?
(Answer in 250 words)

St forspre 1 g fagia w0 R 2 T FY aE wW § 2 Hife19 AE ¥
fmior g slrr et Fmtansti 3 Fan-an ugff o & 2

(250 wrsgt | I )
What is the basic principle behind vaccine development ? How do vaccines

work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words)
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Q17.

Q18.

Q19.

Q20.

e o (Afvas q) it Tt fifve st dftas ey W sEe gwEi @b
Jooig I | FE i, 1997 & 3Tl | TAlSel dTET T HROT s dTeft
Migred Ml & S ! HF HE & fow o 3umi i augse |

(250 vt § IR &)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

Id # 9T WS & SRV UG YWET ol THASY | WAl 1 FhEa! HH & ¢
IUAY AT T dehtch 1 & ? (250 Weal # IR i)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

TIESR GIET & o aed 1 § ? WiseR & hl FAGAl Bl AH H T@d Y FHE
Hifsre for w3 e &g a U SIS PR ATgSR FRET WHITG Therargdsh faehfea
21 (250 wisal A I o)

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)

TFIAATE, Uk AATToeh, AT 3R fashrares geT 8 St ueh fueh st guanm @l
% T H YR BT B | 39 HeW § IWA §Y HEl 1 A=l IS A TG H WA
¥ fues &t sgEat wrifa &1 gema df | (250 =g § I @)

Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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TvA-u Tt s ergem

(W A % @ Fefafea B 1 Frn w@urigEs afge)

ol | v few u ® S R o stdsh AT & BY R
[t v sfEr B
TeE e /9 % fog frga o 3us wne Rw g R

Tt ¥ IR I Wiva mem § fr@ sR =ik, e sga s waw-we & e T R, iR g e 6 e
YT TA-HE-IW (Fo Ho To) YR & guys W Py wom w frn s =fe) witepa e & sifafes o=
foreft wemm # fo@ U IR W A o A& fre)

YT TEAT 1 ¥ 10 9% TEE T IR 150 IEET H AT WY AT 11 ¥ 20 T Tk W IW 250 V&t §
@)

T I Trse-Him 1 e TR S =R
TH-E-IT gfeE § Wiell SI3 Y i U8 A1 Y8 % W H Qia: Fe i)

GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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sfto <o flo & fafmion &3 frliva wo wo o {0 N 9 g et A i wafy F Ry
A 2| 38 gaY § TR H adam Ao w Rt Aifdg (IW 150 w=at § difSw)

Faster economic growth requires increased share of the manufacturing sector in
GDP, particularly of MSMEs. Comment on the present policies of the Government in

this regard. (Answer in 150 words)

. R rfereen # fefafeamon 6 feufe =0 27 56 waw § o arch gwensdt w5 vy Hifw sk

gur % foe gama i) (W 150 w=st § Hifsw)

What is the status of digitalization in the Indian economy? Examine the problems

faced in this regard and suggest improvements. (Answer in 150 words)
FN IR F I Td faovm § §-awde Bt B fRe TR Tee e 27 3 wwEmsy)

(| 150 vzt § i)

How does e-Technology help farmers in production and marketing of agricultural

produce? Explain it. (Answer in 150 words)

. WG H o GUR % IR T I A Fange) i wweel F ofwta, vy S w gy dm A #)

¥ T Y9 GUR AT S GhaT @, fade i) (I 150 w=at ¥ i)

State the objectives and measures of land reforms in India. Discuss how land ceiling
policy on landholding can be considered as an effective reform under economic
criteria. (Answer in 150 words)

Fh g (To 3Ro) H auRI F1 uRwT AR To 3o fFafFEa Fem ¥ F Heg war 27 =0
MY WA B H Yo Mo F ITNM F Al A Fomr #1 A1S @aw weqw F@ 57

(IW 150 w1 # €ifw)
Introduce the concept of Artificial Intelligence (Al). How does Al help clinical

diagnosis? Do you perceive any threat to privacy of the individual in the use of
Al in healthcare? (Answer in 150 words)

3 fafve wle w ==t g (R gersid 30 a9 @ @ fm A Fi @ IR a § Tee g )
(FW 150 w=s1 | i)

Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

. Jtdl Y faerar g Yoger Bl €, Ty w9 @ AR i R, R sRumreey stee ik 9ufy w5
Wil JHEE B 3| | F fawerar % fafim wrol w1 fRrewe Hifvm) 92 afdl 6 Rt ¥ @
Jerew A (3W 150 vi=t # o)

Dam failures are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures.

Give two examples of large dam failures. (Answer in 150 words)
. O TG 1 R7 W) TR 9 W ge W e 7 wia 9@ 2w % fore PR e @ e v
o w9 & wfvers 27 (W 150 w=st & Gifvg)

What is oil pollution? What are its impacts on the marine ecosystem? In what way is
oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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10.

11.

12.

13.

14,

15.

HTdhare-guTfad &1 § SHEYEE & faam wwe 3§ Ra o Rum’ sham wh savas wew 3
T Ty § 5 3R R F ded wEeE % 9 % w9 8§ SR g1 SO T 39t ) st fif)
(I| 150 w3t # i)
Winning of ‘Hearts and Minds’ in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the

Government in this respect as part of the conflict resolution in Jammu and
Kashmir. (Answer in 150 words)

i 9R & T g EferR /en-ares, g ok Arefva 6 Al (o o o) i Her A wgEw
S B g % fan TR m@an ¥ W adR @ Feed ¥ i R 1 @ surt w Rl i)
(IW 150 =t # difere)
The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders
to ferry arms/ammunitions, drugs, etc., is a serious threat to the internal security.

Comment on the measures being taken to tackle this threat.
(Answer in 150 words)

R § Ho ST ST v § weeens #) wRa & e Y omn % R st T veht @
wlie i 3R gur & game i) (IW 250 wi==t # difsw)

Most of the unemployment in India is structural in nature. Examine the
methodology adopted to compute unemployment in the country and suggest

improvements. (Answer in 250 words)
e s SR ‘ghgd sdferaen’ ¥ @ Siw A TR auieRe ¥ T e
Hefaeen &I Yhigd rdfegeen § ¥ @R W G B7 (IW 250 w=at & Afvrg)

Distinguish between ‘care economy’ and ‘monetized economy’. How can care
economy be brought into monetized economy through women empowerment?
(Answer in 250 words)

mﬁzﬁ@ﬁwmmaﬁﬁqﬁaﬁa%éaﬁﬁ,mﬁmm@ﬁnﬁﬁ)ﬁgmﬁaﬁ
=R hifsg | (W 250 =3t & Hifvw)

Explain the changes in cropping pattern in India in the context of changes in
consumption pattern and marketing conditions. (Answer in 250 words)

qRd # F &9 F WEH H TN 9l T T oy whed 9 §7 fig =R @ (z5ge Ho
3lo) gRI 3aT¢ MY HfY wlewd waftm qE A Rrw Hifvw (IW 250 w=t & Hifvr)
What are the direct and indirect subsidies provided to farm sector in India? Discuss

the issues raised by the World Trade Organization (WTO) in relation to agricultural
subsidies. (Answer in 250 words)

A ATl 1 A g R Aot @ wg w1 ¥ e I B wE w0 § i A 3R
A FA § SR Al aE SF AT H) ger 3§ A T e oY e K E

(3| 250 w=3t # difere)
The adoption of electric vehicles is rapidly growing worldwide. How do electric

vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)
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16. A % drat Sz fiwm 1 gea w1 0 ¢ R s vea % fem § wfe T fen s wem? e 2
3 78 % ) Tt R fon & I g A vafa siaRe-am ) sownferdt i wega i @i
fen wrTE siaRe F2 ¥ ‘el waw P F R 38 i @ avia i e diefere |
% va9e § JreE R (IW 250 vr=at & difvre)
What is the main task of India’s third moon mission which could not be achieved in
its earlier mission? List the countries that have achieved this task. Introduce the

subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre’ at the Vikram Sarabhai Space Centre which contributed to the

successful launch from Sriharikota. (Answer in 250 words) 15
17. NG R R & BT T T i e rimn R et At o e wet 8 i
FRid Hew H IRd B O i F Am e (3W 250 st 7 difvm)

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
included in the Ramsar Sites. (Answer in 250 words) 15

18. SR TREE W HR-EEH A (5o Ro o o) I Ak wgR-TR H 2100 Tl 7F T TH
Hix A gfe 1 Eige @ 3 e wEErR 83 § wia i @ e § g ®0 gwE e
(IW 250 vt § i)

The Intergovernmental Panel on Climate Change (IPCC) has predicted a global sea
level rise of about one metre by AD 2100. What would be its impact in India and the

other countries in the Indian Ocean region? (Answer in 250 words) 15
19. WRA TR GEAT H SR aeh Ak g el w0 §7 W @ F gEEen F0 5 g
¥ g v wife woRkEt A e saRe (I 250 WAt § A

What are the internal security challenges being faced by India? Give out the role of
Central Intelligence and Investigative Agencies tasked to counter such threats.
(Answer in 250 words) 15

20. WA & AT % A ¥ wyE W o @ A H w0 F g B T st w aar) @
e §, T A 8§ i Rgt § @ 2022 § §@ ‘Awar & O e @ (TWe TWo Tho Ho)’
T ¥ @5 v ey A ot s fifv) (IW 250 w3t # i)
Give out the major sources of terror funding in India and the efforts being made to
curtail these sources. In the light of this, also discuss the aim and objective of the

‘No Money for Terror (NMFT)’ Conference recently held at New Delhi in November
2022. (Answer in 250 words) 15

* k K
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1.

WA # GUR & I F Efy §, s Jael | adee o1E % @ W g s gl
#ife) fora M a% I gaech H9fs F e A 9w FA F IgEY 87 (IW 150 =41 A df0)

Examine the pattern and trend of public expenditure on social services in the
post-reforms period in India. To what extent this has been in consonance with
achieving the objective of inclusive growth? : (Answer in 150 words)

WRA ¥ Fia 3= @ gEehifa % SR o §7 98 yhR A gEeehifa i fRbh w0 d e e smgo
# Az Hife it gasica w oo Hifs (FW 150 w=a1 | i)

What are the causes of persistent high food inflation in India? Comment on the
effectiveness of the monetary policy of the RBI to control this type of inflation.

(Answer in 150 words)

T F FS A A GuRl % wwa e & fag SoErt wRe @@ 97 we Al
(FW 150 w31 | €ifsm)

What were the factors responsible for the successful implementation of land reforms
in some parts of the country? Elaborate. (Answer in 150 words)

WA H @ T 9o geen B ghifia wm % g O sEt B afien | e
(IW 150 w31 | i)

Explain the role of millets for ensuring health and nutritional security in India.
(Answer in 150 words)

Sfrem miEl % wev # s wuer ARl 1 adum fag ufgwa w0 27 qafy swwa e ofaw +=@
F AW H R A @ WE W R, RO 9w 39 W & aariew fen omn o} @ o
YRR & FHRUN B TE FHI| (FW 150 =3t | €ifvm)

What is the present world scenario of intellectual property rights with respect to life
materials? Although, India is second in the world to file patents, still only a few have
been commercialized. Explain the reasons behind this less commercialization.

(Answer in 150 words)

TSR TR AR TY-F T8 F & T -8 Defieh e s @ 17 39 -2 @y 30K
F-F A §7 3 -8 Iiadq wEarfaa € S 3@ wE w Fely s 0 = g afeds w6
quTfoa @R AR ATEm? (FW 150 =i # dfw)

What is the technology being employed for electronic toll collection on highways?
What are its advantages and limitations? What are the proposed changes that will
make this process seamless? Would this transition carry any potential hazards?

(Answer in 150 words)

IRa # 941 % 9 1 i Ygu UE Heeqyl wiewid g ) @ gwen @ fues ¥ fon fafim
I M R 39 Gey ¥ W gd 6 oft == fifvm) (FW 150 w31 | €ifv)
Industrial pollution of river water is a significant environmental issue in India.

Discuss the various mitigation measures to deal with this problem and also the
government’s initiatives in this regard. (Answer in 150 words)
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10.

11.

12.

13.

14.

15.

WA # yg@ udsmelt % fog wtacfn e s ($o o To) gfommt = ywifad wA &
Wm-mmwmwmﬁm%?wwwmwm
i (W 150 vzt & i)
What role do environmental NGOs and activists play in influencing Environmental

Impact Assessment (EIA) outcomes for major projects in India? Cite four examples
with all important details. (Answer in 150 words)

HHATSY, foh Arehi-SATcare wequl 39 # b YR T TR W % w9 § IR A 2| - s
¥ fver ¥ foe wgfem sudt w ggme df) (IW 150 =zt & difvry)

Explain how narco-terrorism has emerged as a serious threat across the country.
Suggest suitable measures to counter narco-terrorism. (Answer in 150 words)

fefvea =aftma T2 wrem sifufam, 2023 % wel qon @ Rdvarsdt w1 avi B
(3| 150 vzt & Hifvw)

Describe the context and salient features of the Digital Personal Data Protection Act,
2023. (Answer in 150 words)

HRA & o9 SIS ARt F Tl #, TR ‘am wftanell’ F o 3 At Ry S Tw ey #, ond
% W §E R7 (IW 250 wi=at § i)
Discuss the merits and demerits of the four ‘Labour Codes’ in the context of labour

market reforms in India. What has been the progress so far in this regard?
(Answer in 250 words)

WA # &l ATy R % e B own s 37 T8 ded 4, weER ) SeR @ a
9! IyafeEl Y == i) (W 250 w=dt & Afvrm)

What is the need for expanding the regional air connectivity in India? In this
context, discuss the government’s UDAN Scheme and its achievements.
(Answer in 250 words)

T & foefi § vl fmd someht % ) w0 ygw ARt §7 gee R e F R e g
ST T 9T F TR (3W 250 wi=a] & difg)
What are the major challenges faced by Indian irrigation system in recent times?

State the measures taken by the government for efficient irrigation management.
(Answer in 250 words)

wRa A Fi Frdt F R % g gilim sier (aw wiF) F Tew 9 wE St TR =
R ¥ g ghfaal w=n #7 fadem $ifvm (IW 250 vi=7t # difv)
Elucidate the importance of buffer stocks for stabilizing agricultural prices in India.

What are the challenges associated with the storage of buffer stock? Discuss.
(Answer in 250 words)

fag 1 @~ @ gt A3 ot i st it F AT B ge @ Y TE GEe F aYE 50
fore B-dil Afcves aofsh &7 Aeh el o ol e T 3R ANt F IP@ A g GG
= Hifsm) (W 250 wi=at & Hifvw)
The world is facing an acute shortage of clean and safe freshwater. What are the

alternative technologies which can solve this crisis? Briefly discuss any three such
technologies citing their key merits and demerits. (Answer in 250 words)
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16. e 1 ¥ TR o F gy A9 w1 @au B awatas 17 W few w3 & foe @
wrifeat fofa i T8 87 (IW 250 w=at A i)

What are asteroids? How real is the threat of them causing extinction of life? What
strategies have been developed to prevent such a catastrophe?

(Answer in 250 words) 15

17. e SRy F=0 27 32 HA Ruifa fren s 37 o wfdy g % fafta a0 avia fif) s
faw =i ¥ fo Fe 2 (2015-2030) F Afisw @l w1 ot sg@ Hf
(IW 250 W=t # i)

What is disaster resilience? How is it determined? Describe various elements of a
resilience framework. Also mention the global targets of Sendai Framework for
Disaster Risk Reduction (2015—2030) (Answer in 250 words) 15

18. wed & § 9 & It g8 Ty -da e R g6 9 RO i == hife) frow X
&, wra A o W A vgE a6 A sl w1 sgE A wra H 379 A i) s w1
Hife e R W Tt | Foe 21 (3| 250 ==t # dif)

Flooding in urban areas is an emerging climate-induced disaster. Discuss the
causes of this disaster. Mention the features of two such major floods in the last two
decades in India. Describe the policies and frameworks in India that aim at tackling

such floods. (Answer in 250 words) 15

19. wrd 6 95 @ TREEE % 9 T At sa g @ Rl o R g #) @ ey
wreR-Rd T qon guan-ghRE w1 whem Hfw) dm ae e FEEE (e To fo dlo) U
A ST oK vEEA (dle 3Mgo THo) WS ¥ Siatd g &l # fry s A foma-wEl 1 o
3fgfaa Hifsa) | (IW 250 w=at & i)

India has a long and troubled border with China and Pakistan fraught with
contentious issues. Examine the conflicting issues and security challenges along
the border. Also give out the development being undertaken in these areas under
the Border Area Development Programme (BADP) and Border Infrastructure and

Management (BIM) Scheme. (Answer in 250 words) 15

20. G Hifen w H N (CEfEET) T dand T g g #) s e & g St
7w F gu Rt T w I STy T ¥7 T e ) weEi w ge 3 T s
w1 oft gema dfwm) (3| 250 wr=31 & i)

Social media and encrypting messaging services pose a serious security challenge.
What measures have been adopted at various levels to address the security
implications of social media? Also suggest any other remedies to address the

problem. (Answer in 250 words) 15

* * Kk

PHKM-G-GST/37 4 25SS—15168



